

■ ほしじるし(☆) のやり方 にならって、まとめてたしましょう。

$$\star 46 + 1 + 19 = 46 + (1 + 19) = 46 + 20 = 66$$

$$\textcircled{1} 47 + 1 + 29 = \quad = \quad = \quad$$

$$\textcircled{2} 26 + 27 + 3 = \quad = \quad = \quad$$

$$\textcircled{3} 33 + 1 + 9 = \quad = \quad = \quad$$

$$\textcircled{4} 23 + 9 + 1 = \quad = \quad = \quad$$

$$\textcircled{5} 52 + 26 + 4 = \quad = \quad = \quad$$

$$\textcircled{6} 21 + 6 + 14 = \quad = \quad = \quad$$

$$\textcircled{7} 43 + 5 + 25 = \quad = \quad = \quad$$

$$\textcircled{8} 54 + 5 + 5 = \quad = \quad = \quad$$

$$\textcircled{9} 12 + 3 + 7 = \quad = \quad = \quad$$

$$\textcircled{10} 66 + 9 + 11 = \quad = \quad = \quad$$

$$\textcircled{11} 56 + 5 + 15 = \quad = \quad = \quad$$

$$\textcircled{12} 15 + 3 + 8 = \quad = \quad = \quad$$

$$\textcircled{13} 62 + 6 + 4 = \quad = \quad = \quad$$

$$\textcircled{14} 17 + 21 + 9 = \quad = \quad = \quad$$

■ ほしじるし(☆) のやり方 にならって、まとめてたしましょう。

$$\star 46 + 1 + 19 = 46 + (1 + 19) = 46 + 20 = 66$$

$$\textcircled{1} 47 + 1 + 29 = 47 + (1 + 29) = 47 + 30 = 77$$

$$\textcircled{2} 26 + 27 + 3 = 26 + (27 + 3) = 26 + 30 = 56$$

$$\textcircled{3} 33 + 1 + 9 = 33 + (1 + 9) = 33 + 10 = 43$$

$$\textcircled{4} 23 + 9 + 1 = 23 + (9 + 1) = 23 + 10 = 33$$

$$\textcircled{5} 52 + 26 + 4 = 52 + (26 + 4) = 52 + 30 = 82$$

$$\textcircled{6} 21 + 6 + 14 = 21 + (6 + 14) = 21 + 20 = 41$$

$$\textcircled{7} 43 + 5 + 25 = 43 + (5 + 25) = 43 + 30 = 73$$

$$\textcircled{8} 54 + 5 + 5 = 54 + (5 + 5) = 54 + 10 = 64$$

$$\textcircled{9} 12 + 3 + 7 = 12 + (3 + 7) = 12 + 10 = 22$$

$$\textcircled{10} 66 + 9 + 11 = 66 + (9 + 11) = 66 + 20 = 86$$

$$\textcircled{11} 56 + 5 + 15 = 56 + (5 + 15) = 56 + 20 = 76$$

$$\textcircled{12} 15 + 3 + 8 = 15 + (3 + 8) = 15 + 11 = 26$$

$$\textcircled{13} 62 + 6 + 4 = 62 + (6 + 4) = 62 + 10 = 72$$

$$\textcircled{14} 17 + 21 + 9 = 17 + (21 + 9) = 17 + 30 = 47$$